WEST BENGAL SHINE TEACHERS' OF EDUCATION

TALENT SEARCH EXAMINATION -2024
CLASS -VII

Every CORRECT answer will add one mark
Every WRONG answer will deduct one mark

Time : 1 hr 30 minutes

1. Choose the most suitable option to complete
the sentence.

The property will be divided the three

sisters.

a) Between b) Among

c)In d) None of these

2. Find Adjective in the given sentence
The wise, handsome owl had orange eyes.
a) Wise, handsome b) Owl

c) Orange d) wise, handsome, orange
3. Find the correctly spelt word.

a) Adventitus b) Adventitous
¢) Adventituous d) Adventitious

4. Choose the correct spelling from the following.
a) Conossieur b) Connoissure
c¢) Connoseur d) Connoisseur
5. Choose the correct verb

How long (you know) Ramesh and
Seema? We met the couple over twenty years
ago.

a) Have you known b) are you knowing

c) Will known d) have you been knowing

6. Rearrange them in the proper sequence in
order to make a meaningful sentence.

P. with each other
Q. as huge technological successes
R. to present their capital cities

S. at the turn of the century State leaders were
competing

Full marks : 80

a) PQRS
c) SPQR

b) SPRQ
d) QSPR

7. Give the exact meaning of the idiom / phrases
given below.
To get cold feet
a) To be afraid b) To fall ill/Sick

c) Feet which are cold d) To become heartless

8. How many nouns are there in the sentence
given below?

Mita gave Rita a few exercises to solve.
a)l1b)3c)2d)4

9. Choose the option which best expresses the
given sentence in indirect speech.

He said, "l know a better shop."

a) He said that he had knew a better shop.
b) He said that he knew a better shop.

c) He said that | knew a better shop.

d) He said that he had known a better shop.
Choose the correct alternatives:

10. according to you will become the
next president of India?

a) Who b) Whom

c) Whoever d) Which

11. Choose the correct question tag.

You are collecting stamps,

a) Are you b) Aren’t you

c) You d) Don’t you




Choose the correct words:

12. The student’s handwriting was
a) eligible b) illegible

c) indelible d) credible

13. This novel a thousand pages.
a) comprises of b) is comprised

c) is teemed d) consists of

Choose the appropriate single-word expressions.

14. One who considers the happiness and well-
being of others first.
a) Atheist b) Altruist
c) Amateur d) Arsenal
15. The centre of attraction.

a) Genre b) Concert
c) Cynosure d) Galaxy

Choose the meaning of the following idiom.
16. Talking through hat

a) Talking intelligently b) Talking nonsense

c) Speak in syllables d) Talk in a very loud voice
Give the correct Synonyms.

17. Prolific
a) Fertile b) Competent
c) Plenty d) Predominant

Select the word that is furthest (opposite) in
meaning to the main word.

18. Philistine
b) libertine
d) educated

a) cultured
c) sober

Spot the errors in the following questions.

19. | am an (a)/ alumnus of (b)/ the Punjab
University (c) / no error (d).

20. Arrear of rent (a)/ should be paid (b)/ as early
as possible (c)/ no error (d).

21. Find the wrong number among the following.

RIS ST N (@Wi6 TfomN?
a) 1381 b) 343 ¢)8 d) 125

22. M is the son of P. Q is the granddaughter of O,
who is the husband of P. How is M related to O?

M, P-49 @1 Q, 0-49 WVIofN | 0 WK P-4
FIN | OI=CE M, 0-47 (F TT?

a) Son b) Daughter c) Mother d) Father

23. In a row of boys, Syamantaka is 7th from the
left and Venkat is 12th from the right. If they
interchange their positions, Syamantaka becomes
22nd from the left. How many boys are there in
the row?

A0 QA Mo NS ANHS (AT
7%, (OO UINMP (TP 129N | M OrT
TG T I AFION F(F OF NS
AN (ATH 229N 2| & Ao Fosfd
1 foet?

a)29 b)31 ¢)33 d)34

24. Find the missing number from the series.
ST TN S ST Fo?

8, 15, 28, 53, ?, 199.

a) 104 b) 103 c) 102 d) 101

25.A, B, C, D, E and F are sitting around a Round
table. Ais in between E and F. E is opposite to D

and Cis not in either of the neighbouring seats of
E. Who is opposite to B?

A, B, C, D, E {3 F G310 (911eT (BfITeT It
WG| A, E 3¢ F-4F 0T I0T |G| E, D-AF
fRIANATS, ¢, E-9F A (N2 | O B-I
NS (& wR?

a)Cb)D ¢)F d) None of these

26. Flight to Mumbai leaves every 5 hours. At the
information counter | learnt that the flight
information counter took off 25 minutes before. If
the time now is 10 : 45 a.m., what is the time for
the next flight?

5 T0 WS YHRIF [N BTG | SR N
TINT® AT 25 FRE &sy f[RNw{G ot
TR | Q4N STV 10:45 a.m., O IS

A= FY4~ Qroa?
a)2:20a.m. b)3:30a.m.
c)3:55p.m. d)3:20p.m.




27. An application was received by Inward clerk in
the afternoon of a week day. Next day he
forwarded it to the table of the senior clerk, who
was on leave that day. The senior clerk next day
evening put up the application to the desk officer.
Desk officer studied the application and disposed
of the matter on the same day, i.e. Friday. Which
day the application was received by the inward
clerk?

(N FIGE A [CIA JB0 RIS Inward
clerk-A9 FIR QNI (NS =2 | H(FF T ol
(12 ULV Senior clerk-Id IR O (M |
g i fof 2fore W #ag v =ife
WEFIRATHFT N6 I 933 I 7RAUBH
=18 271 i ' &K1 1 (N
A Inward cIerkWWﬁfﬂ@CﬂW?

b) Earlier week's Saturday
d) Monday

28. If COUNTRY is coded in certain way
EMWLVPA, ELECTORATE will be coded in the same
manner as —

M COUNTRY-AT ATIO EMWLVPA XT O
ELECTORATE-JF H(F® = -

a) CICEFOPYWC  b) C/GEROTYVG
c) CNCEROPCRG  d) GIGAVMTYVC

a) Tuesday
c) Wednesday

29. In a family, there are six members A, B, C, D, E
and F. A and B are married couple. D is the only
son of C. Ais father of E, who is granddaughter of
F, whose husband has died and C is brother of A.
How many male members are there in the family?

36 AT A, B, C, D, E 433 F I3 b G
ST | A 4<% B [RAIR® w™ifS | b, c- 43 7@
A, E-93 AT 433 E, F- 7 WIS, F-A FTN N0
(518N 33 C, A-GF O12| & ANFINT FOO
ALY AT A(R~?

a)2 b)4 ¢)3 d)5

30. There are 15 chairs in a row. Positions of P is
at the middle, Q is at 12th position counting from
the right. How many chairs are there in between
Pand Q?

JT0 AT 156 (G AR p-97 I
WL | BN (TP (SN A Q 4
SIEW 129% BN | P I8 Q-9 NI Ho
CEIEAVIEF

a)4 b)5 c)2 d)3

31. There are 100 questions in a question paper,
negative each carrying 2 marks. But there is a
negative marking. 1 mark is deducted for each
question answered incorrectly. A student
answering all the questions got 80 marks. The
number of questions correctly answered by him is

GfC 2PYHNTT 10015 2 TR oY =g |
AFSTE T TSIRT G 2 NI (ST =
WK G GBI G 1 VFS IO Q| JPG
R TIHI0 ATHR BB FL 80 VFI (|
Raft F6 AN ST T8T FAET?

a)70 b)60 ¢)80  d)75

32. How many 9's are sandwiched between 6 and
7in696996676979669779667°?

696996676979669779667-4d V(T W@ﬁf 9,6
G328 7-93 NCHT TG BTN (BIC6 ¥ =2

a)2 b)3 c)4 d)5

33.1f 73429186 denotes PURCHASE and 54064
denotes ORDER, then what will 7452688 denote?

B0 (PITG73429186-49 (FIG PURCHASE
438 54064-49 (FG ORDER, ©OTR(eT 7452688-
93 (G F =2

a) PROGRES b) PROCEED
c) PROGRAM d) PROCESS

34. There are six books A, B, C, D, E and F. B, C and
E have blue covers while the rest have red covers.
D and F are new books while the rest are old
books. A, C and D are law reports while the rest
are of physics. Which is the red covered new law
report book?

A, B, C, D, E <% F 26 92 ™Y B, C I3 E I3
N A6 G2 AfF IS AT N6 | D
A2 F, QW IR 438 1B ST ATANATIIRI A, C
432 D I29fe, W2 {1 [7F a3 I1F




R Y FRICTF | (FI 2T 11 Wemea
o W3 TG T2
a)A b)B c)C d)D

35. If, + stands for division; X stands for addition;
— stands for multiplication; + stands for
subtraction, which of the following equation is
correct?

M '+ o= O MU 07, 'x o= cao
(QRTY, - 5= @9 ([T, '+ o= [Ty
(R, Iz (VRS (S TNFI90
MIBET,

a)36+6-3x5+3=24
b)36x6+7+2—6=20
€)36+6+3x5-3=40

d)36-6+3x5+3=74

36. Point out the letter which represents Indians
and Historians but not politicians on the basis of
these three circles?

AR WES foxf0 Jrad e (@ 236t
SRR (PN OO 8 PO, [FF
AGINIfSRm T, T Fa0%?

i
ng

Indian

Historians Politicians

a)b b)f c)bandf d)bandg

37. By how many straight lines the figure is
formed?

ARfEfde Tat FoE ST 7
sfow?

a)11 b)14 ¢)16 d)17

38.8 persons A, B, C, D, E, F, G and H are sitting by
a round table each facing the centre. D is second
to the left of F and third to the right of H. A is
second to the right of F and an immediate
neighbour of H. Cis second to the right of Band F
is third to the right of B. G is not an immediate
neighbour of F. In the above information who is to
the immediate left of A?

A, B,C, D, E F GJ32 H I3 b G JF(0
(SNETCOI9e U (P Md YL FG 0
SR | D ICIR F-AF ISP 01T ZIN 433
H-AF TIM(HE SO ZN | A IR F-
TN o BT | I AT TR H, C
JOACR B-IF GNP OOIT T | F-J AT
G ICA | ST OT WPIH A-9F O
JMCH (I ICIR?

a)H b)E ¢)G d)B

39. One evening before sunset two friends Ajoy
and Amal were talking to each other face to face.
If Amal's shadow was exactly to his right side,
which direction was Ajoy facing?

ST N G ST {2 IF G (=S
N YLATY Y IO ATNCKS A P
e | I SNeeTs AT 5 o
TR G, OI=Ce WG (FI MiF Y4
I MRGCARe?

a) North b) South ¢) West d) None of these

40. Observe the dots on a dice (one to six dots) in
the following figures. How many dots are
contained on the face opposite to that containing
four dots?

R QU [ ST (1 (A< 6 179)
N B (T OO 46 77 =g org
Rt Faf6 [ wng?

a)2 b)3c)6 d) Cannot be determined

V8+v57+v38 +/108 +/169 =

41.




a)10 b)8 c¢)6 d)4

4y 2Y40-4¥320+3Y625-3Y5=2

a) V340 b) V660 c) —23240 d) o

43.33 é% of b0.15% of Rs. 10000 is —

33 é% ~ 97 0.15% -9 10000 BIFI A _

a)Rs. 5 b)Rs. 150 c) 5 paise d) Rs. 105

44 .A bag contains Rs. 1, 50 paise and 25

paise coins in the ratio 4: 5: 6. If the total
value of the coins is Rs. 32. find the total
number of coins in the bag.

36 IS 1 BIFT, 50 2T A< 25
NI AT 4: 5: 6 AYATO (R | I
JIICSY CG 32 IR AMF, O ANGre
(TG O YA AMR?

a) 50 b) 55 ¢c) 60 d) 65

45.Find the average of all multiples of 5
between 6 and 50.

6 (AT 50 -9 W& 5 -9 BfToF g
BIVEION

a) 215 b) 30 c) 32.5d) 25

46.A man gives 20% of his saved money to
his son,30% of the remaining was given to
his daughter and 10% of his remaining
money he donates to charitable trust. If he

is now left with Rs. 10080. find his total
savings.

JFHO (1 O SN N 20% O
AP (M, WA - 99 30% Ol
PP (M I AR 10% T
ARSI N B | JFF O FICR
10080 BIFI ST AT | OTR(A Ol
(NG BTN ST AT F©?

a) Rs. 50000 b) Rs. 30000

c) Rs. 40000 d) Rs. 20000

47 The sum of the present ages of A and B
is 55 years. 10 years ago the ratio of their
ages was 4 : 3. The present age of Ais —

AGR? B-I9 IO JACH TR 55
291 10 IRT ™ It F AL
WS T 4 : 31A IT TSN ITA
PO?

a) 35 years b) 20 years c) 30 years d) 25
years

48.A sum of money amounts to Rs. 600 in
4 years and to Rs. 650 in 6 years at a
certain rate of simple interest. Find the
rate of interest.

3510 AT BIFT (AT JH(6 NS
STHE SCUS =TS 4 IR 600 BIHT
STCANCE R 438 6 IR 650 GIPT
YRS T | O RS SR TR
IO?

a) 4% b) 5% c) 6% d) 8%

49.Pipes A and B can fill a tank in 12
minutes and 15 minutes respectively and
pipe C can empty it in 5 minutes. A and B
runs together for 5 minutes and then pipe
Cis opened. After how mucll time the
tank will be emptied?

A 933 B TG 2129y 456 B Aof
A0 TN 12 TNNE 93¢ 15 NG
ST (VT G948 C A3 5 N6 ©fS
OIS Y1fe] FACO STNT (VT 1A JSB
GFATY AN 5 TG (LT =Y <3
SR C (U T | T A(J OIS
YIfe] 2C]?

a) 55 minutes

b) 65 minutes

c) 45 minutes d) 15 minutes




50. A, B and C starts a business and

decides to divide this profit in the ratio —:

: % . After C left the business, A and B

divides C's profit in the ratio 4 : 5. The
ratio of profits received by A and B will be

AB G338 CAPANY JH0 I ©F
EIGIUER mﬁma*ﬁ: %: % WNYATS
I P C AT (TS (RLY B
TETEANIA IFE B, 4 : 5 AYATO C-
A9 Ao ATV O FR (WT | A
433 B I AT To513* @19 FCH
(N2

a)3:5 b)55:53 ¢)31:23 d)53:55

51. /3025 =55, then find the value
ofv3025 +v30.25 +V/0.00003025

IMV3025 =55TTO(J /3025
+/30.25 +/0.00003025 <9I« fNefs
I

a) 60.5055
c) 60.5505

b) 60.5555
d) 60.0555

52. If the price of an article is first
increased by 40% and then decreased by
30%, find its overall change in price.

R (AT SN Tel5 AT 40%
MOTCNT R R AN 30% P =
O] [N I 0 *forg*
NIION =42

a) 10% increase b) 3% increase

c) 6% increase d) 2% decrease

53. The greatest number which can divide
2400 and 1810 to leave remainder 6 and 4
respectively.

AJE Y (PINAAN T 2400 438
1810 -( I P JYTPR(V 6 A<R 4
YN I(P?

a)36b)42 c)48 d) 46

54. A salesman allows a discount of 16% to
the customer on the marked price and
makes a profit of 12%. By how much
percentage has he marked his goods
above the cost price?

PG Rl (FIAT 6 ST
4T TR B2 16% TG MTTS 12%
&G P, O DAY TN F©
*OI¥ AN IMGCY R ety
AACR?

a) 50% b) 33§%c) 28% d)40%

55. The difference between the simple
interest and compound interest on the
same sum of money at 20% p.a. for 3 years
is Rs. 48. Find the sum of money.

(I 56 ST BIPTF BN 20%
ARF M 2T 3 IR A SR <
5&Rq@ ST YT 48 BIpT | ST
BDIPI AN F9?

a) Rs. 400 b) Rs. 450 c) Rs. 375 d)Rs. 480

56. A's salary is 40% of B's salary and B's
salary is 25% of C's salary. What per cent
of C's salary is A's salary?

AL (O« B-49 (9(N] 40% 4<R B-49
(O« C-Aq (O] 25% | O] C-4q
(O A-49 (O[N] PO *OI*]?

a) 20% b) 5% c) 0.5% d) 10%

57. If x = 2+ V/3, then the value of (X?+ X2)
is —




M x = 2+ V3T, O (X2 + X2) A9 W
FO?
a) 14 b) 16 c) 18 d) 12

58. The least number to be multiplied to
9720 to get a perfect cube is —

I35 “Yof T4 (TS =(A 9720 -9
S SRNE F© @ FA0O I?

a)60 b)72c)30 d) 75

59.Simplify: J%

V81+v49
a)2 b)d )5 d)6

60. Simplify: \]5+— ‘Zih/% =7

. [5+V25+/36
Wﬁ“fif?ﬁq’\/f

a)4b)2c)5 d)6
61. In 1901, Nobel Prize was not given for —
1901 MITET (NIl YIHF (MO 2T N—

a) Chemistry b) Physics
c) Economics d) Peace

62. The Shanti Swarup Bhatnagar Award is given
by which of the following organisations?

& T CIONH IR [NRATS (FN
LI QI AT P RA?

a) Council for Scientific and Industrial Research

b) Indian Council for Agricultural Research
c) Indian National Science Academy
d) Indian Space Research Organisation

63. On whose name is the highest award for
services to the development of cinema given in
India?

OIS SAGLTad BRI (AT Gy S50
NRFIF B NN (RS T

a) Raj Kapoor b) Dada Saheb Phalke
c) Meena Kumari  d) Amitabh Bachchan

64. Tansen Samman has been instituted by the
Government of —

SN ST (I FIHIE FIRT AfSD®
AACR?

a) Gujarat b) Maharashtra
c) Uttar Pradesh d) Madhya Pradesh

65. Manav Seva Award has been instituted in the
memory of —

W (T FHIF 1] AT AR IITHACT—

a) Rajiv Gandhi
¢) Indira Gandhi

b) Dr. Rajendra Prasad
d) Acharya Vinoba Bhave

66. 'Global 500' awards are given for the
outstanding achievement in which of the
following fields?

(AR 500 'YFHF [NHFEARS (1N wg
TSI PROCT G (RS =RT?

a) Campaign against AIDS

b) Population control

c) Protection of environment

d) Elimination of illiteracy

67. Consider the following statement about
'‘Param Vir Chakra' —

1. It is the highest peacetime gallantry award.
2. It is equivalent to Victoria Cross of UK.
3. It can be awarded to civilians.

Which of the following statements is/are correct?

EISPREED

1. A6 *MIFEAN I Y FTHE|

2. A6 TFATTHR ST 0TI ST

3. 4f6 (RANREF NHRFFHF (ST (TCS A
fRfafie RIfSefea T @mib J5w?

a) 1 only
b) 2 only




c) 2 and 3 only
d)All1,2and 3

68. Which of the following is the second highest
wartime gallantry award in India?

fARfEfoRET Nay (FRT orres e
ST THIFA AR ATHK?

a) Vir Chakra b) Mahavir Chakra

c) Ashok Chakra d) Shaurya Chakra

69. In which field 'Moortidevi Award' is given
every year?

e 399 (PN 5F g '%I\‘JCV@ AL (W8T
2

a) Literature b) Drama
d) Music

70. The study of fruit is called—

c) Dance

6] RIS [P I IT—

a) Pedology

b) Pomology
c) Anatomy

d) Spermology

71. The study of the inner structure of body is
called —

a) Morphology b) Taxonomy

c) Anatomy d) Ecology

72. Which of the given instruments is used to
view distant objects?

28 THBI LT (PG THT0! IB S
(MY IR0 J?

a) Periscope

b) Microscope

c) Telescope

d) Radar

73. Which of the given instruments measures the
speeds of airplanes and motorboats?

2@ T N (FA0G [N 93
CNTOACRATG-AF 10 AN FCF?

a) Compass b) Odometer
c) Radiometer d) Tachometer

74. Which of the given instruments measures the
intensity of an earthquake?

28 THBIRFEI N (FH0 S NFCPE
SIFeT AN FR?

a) Thermostat

b) Richter scale

c¢) Rain gauge

d) Seismograph

75. The Protozoa responsible for dysentery is —
SR IR G AT (T Gire?
a) Entamoeba

b) Amoeba

¢) Trypanosoma

d) Paramecium

76. Which image device is used to detect kidney
stones?

U MY ([RIF G (PN LN Aqh
QAN Rl RI?

a) Tomography

b) X-Ray

c) Dialysis
d) C.T. Scan

77. Inadequate supply of blood in the human
body is called—

NIRRT WA TF AR = (12
STSTIG(E ICeT—

a) Ischemia

b) Hemostat
c) Hyperemia d) Hemorrhage

78. Which of the following is not a mosquito
borne disease?

fARfEe (@Wc TRIES @5 w2

a) Dengue fever b) Malaria




c) Sleeping sickness d) Filariasis

79. The deficiency of which of the following leads
to dental Decay?

AR (@ SAMG TSI G
e

a) Iron b) Coppr

c) Fluorine d) Zinc

80. To which one of the following types of
organism do mushrooms belong?

SN RS (S0 TegE?
a) Algae b) Ferns

c) Fungi d) Lichens




